Chemistry B Final Exam Practice Quiz

Name: F\e,\}

1. Find the electronegativity difference between
carbon (C) and chlorine (Cl), and indicate the
type of bond that will form. 3.0 — 2.5 =05

a. 00-04 nonpolar covalent

G 04-1.0 moderately polar covalent
¢ 10 =20 very polar covalent

d =2 ionic mL

2. Which measurement correctly reflects
the volume shown in this graduated
cylinder?

a. 36mL
(b 36.2mL
c. 36.20mL

d. 36.200 mL

3. Mercury forms a convex meniscus in
glass, as shown in the picture to the
right. This indicates that _____

a. There are no intermolecular forces
present.
b. The adhesive forces are stronger
than the cohesive forces.
@ The cohesive forces are stronger than the
adhesive forces.

: e L molar
4.  Whatis the percent composition of CO3? Nacs

27.29% Cand 72.71 % O
b.
€
d

42.88% Cand 57.12% O 4.0l g

5. Determine the empirical formula of a compound
with 87.4 % nitrogen and 12.6 % hydrogen.

a. NH {14 | mol ___(9.25 mol N
(b) NH; I qoig /‘025@
(& Nqu
\
d N(,le !2 b%g Vo

6. Which of the following is an empirical formula?

a. CeHiz +bo
b. C4He =y

CsHg =1
d. CiHe =2

20

Convex
meniscus

42.88% Cand 72.71% 07,0 _ 2x\b SOy
4]0\ g

i

44.0\ §|mol
27.29% Cand 3636 % 0 ToC =122\ 4 10

How many milliliters of 6.00 M HCI are needed to
make 0.250 L of 3.00 M solution?

a. 0.125mL Vi = MoV

b. 0.50 mL \ My

(© 125mL 3.00M x 6250L _ 0425 L
d. 500mL .00 M I

\25mL

Y : '\'a
A 1.5b L balloon is sealed at 25 °C. Predict the
volume if the balloon is heated to 35 °C. V=

a. 1.07L MieaVz NG - Valz

b Bl T T -

© 155L T,=2d9%1k V, . \DOL*3ICRKE
d. 210L 29\

T2= 208k

How many moles of hydrogen gas are required to
produce 4 moles of NH3?
N2z (g) + 3Hz (g) = 2NHzs (g)

@ 6molH; ‘b

Ha wael W
b. 4 mol H; Aol VR o= MTN“ = z
C. 2 mol H; OR
d. 1 mol Ha

. During an experiment you calculate that you

should get 5.4 g of product from a reaction, but
you only obtain 3.9 g of the product in the lab.
What is your percent yield for this reaction?

a. 14% CToNheld = Actual O
b. 7.2% Theorencol

c. 28% o

@ 72% e

‘5.'—13

11. Which of the following must be true of a reaction,

if the change in heat involved in a chemical
reaction has a positive sign? AR\ =4
a.  Heatislost to the surroundings
Heat is gained from the surroundings
c No heat is exchanged during the reaction

12. Which of the following needs the greatest amount

of heat to raise the temperature 1°C?
(2 1gAluminum, C,=0.90 e

b. 1glron, Cy=0.46 LC
c. 1gSilver, C,=0.24

]
g°C
d. 1gPlatinum, C,=0.13 gLC

For each of the following problems involving calculations, show all work including units. If appropriate, indicate the
equation used. Be sure to complete any conversions necessary. Record your answer with units in the box.

13. Determine the mass of nitrogen trihydride gas (NHz) produced when 34.1 L of nitrogen gas, at STP, reacts

with excess hydrogen.

N2 (g) + 3Hz (g) = 2NHs (g)
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14. Complete the table.

Draw the Electron Dot Draw 3-D structure & Name VSEPR Shape Check(v') all forces present &
Structure : - Cirele or box the M to identify
Indicate Polarity the strongest.
N CHF ; F— 3-D StructuFr_e: Shape Name: dispersion >
1x3 \ | Teloledral _
] p—C— H C’”,, @r Nonpolar? dipole-dipole @
(4g- \ 7 N :
H H H Asyrmmetvic hydrogen bonding
NH; 3-D Structure: Shape Name: dispursion o
s ) o Tvigonol I
%3 — N —W Pyramadal R
—b- W \ ‘\3,\! 1. Nonpolar? dipole-dipole v
H =~ o
= IA/ RSy = hydrogen bonding @
SF; W 3-D Strucépre: Shape Name: dispersion @
P [N QPR IR OOR
—_— - e\ . s
e F o \ ==&, / ; ~¢c Polat or dipole-dipole
I B . F
? [ ‘5\,?'\?\..“4_&7'-‘; hydrogen bonding
15. Based on the types of intermolecular forces you 16. Which of the molecules in the table above is likely
identified, which of the molecules in the table o to be the most volatile (evaporate the easiest)?
Sl ; ) y
above is likely to adhere most strongly to water? “?/}/_ (citele one) CILF NH, SF,
(circle one) CH;F @ SFs o O | o ol

17. Whatis the volume of a sealed container with 12.7 grams of 0; gas at 45°C and 2.5 atm? —T - ys°C+273 =

ST 3-——»mb\(_n\ T P T = 213 \
e o
Xﬁ\/’; NRT V= nRU  (6.207 wmol ) (0.08 2652318
P & (2.5 o) 4.1 L
121902, Amel
AVgerd ~ -‘:’SL{)[ AWcord = "ZZ_LDD-\IJ
Csolid = Cqumd = Cgas =2.00 AHps =334 = ] fOI H-20 AHvap =2260 = for H-20

D

18. Calculate the change in energy [m k]) needed to conve1@ofsteam at 100.0 °C to ice at -15.0 °C by
following steps a and b below.

m

a. Using only variables, write the equation you will use to calculate the change in energy for the process

described above.

= ( mwm KAHCOV\A\ *

\akent

m’{/h FAT \

Iens m\o\e_

\aYent

b. Complete the calculation and report the total change in energy in kJ.

AW = (25.04q * -ZzLoO)/)

Water

100.0 —

Temperature °C
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AT = -19.0°C-0.0°C
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